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3 1BAEFE SFE 90 § 203 | -145 | 58 | 1 Jo6 | 1 140 ] 1 ]528.0 [533%| 2

3 2K SERETE 90 | 226 | -181 [ 45 | 2 Jos | 3 1250 3 5060 [51.1%| 7

4 S5 FETLE 90 | 188 | -201 | -13 | 12 J-0.1 ] 12 1094 | 12 ]497.0 [50.2%| 9

4 JE7EHE BRI 70 | 143 | -118 [ 25 | 4 o4 | 4 121 ] 4 13960 [514%| 5

4 R ZEIH 20 | 64 | 43 [ 21 1.1 1.49 116.0 |52.7%

5 ek e e 80 | 115 | -193 [ -78 [ 16 1-1.0] 16 J0.60 | 16 13945 |44.8%| 16

5 PHANEE Eiok 80 | 129 | -192 | -63 [ 15 1-0.8 ] 15 J0.67 [ 15 14065 |46.2%| 14

6 (e FE R 60 | 123 | -113 110 | 6 Jo2 ] 7 1109 [ 7 ]3385]513%| 6

6 fo] ) Bzt 10 | 21 -11 ] .10 1.0 191 71.0 [64.5%

6 S 2R HES 20 1 26 | 28 | 2 -0.1 0.93 116.5 |53.0%

6 S 2R B 30 1 96 | 33 | 63 2.1 2.91 185.0 |56.1%

6 RS ALk 20 | 21 53 ] 32 -1.6 0.40 100.5 [45.7%

6 RS B 30 | 91 -58 133 1.1 1.57 181.5 [55.0%

6 IR Bzt 10 1 45 | -15 [ 30 3.0 3.00 68.5 162.3%

7 CeCIN FFihEE 10 ] 6 -18 | -12 -1.2 0.33 50.5 145.9%

7 AR JrihEE 20 | 27 | 45 | -18 -0.9 0.60 100.0 [45.5%

7 AR “eEhe 101 9 33 | 24 24 0.27 435 139.5%

7 PR CEIN 70 | 152 | -158 | -6 9 1011 9 1096 ] 9 13650 147.4%| 12

7 EfihEE AR 30 | 42 | -8 [ 40 -13 0.51 135.5 [41.1%

7 AR SEATEK 201 29 | 51 [ -2 -1.1 0.57 97.0 |44.1%

8 X BLE 10 3 29 [ -26 2.6 0.10 415 137.7%

8 e e B HEE 10 | 35 21 | 14 14 1.67 61.5 [55.9%

8 G BE 60 | 96 | 86 [ 10 | 6 02| 7 JLI2 | 5 13260 [49.4%| 10

8 L1EIRS ZEHA 80 | 138 | -166 | 28 [ 14 1-04 ] 13 J0.83 [ 13 ]442.0 |50.2%| 8

9 TEH BT 50 | 102 | -93 9 8 102 | 5 JL10| 6 |287.51523%| 3

9 HEE =T 10 | 21 -16 5 0.5 131 54.0 [49.1%

9 SFENE AT NS4 60 | 129 | -135 | -6 | 9 |-01] 10 J096 | 10 |317.0 [48.0%| 11

9 [FRERT] HiEE 40 | 111 | -50 | 6l 1.5 2.22 231.0 [52.5%

10 RET GRS 30 | 43 -69 [ -26 0.9 0.62 163.0 149.4%

10 s BRIHAY 30 | 88 | 71 | 17 0.6 1.24 181.0 |54.8%

10 FREEEE Bek e 5 20 | 32 | -31 1 0.1 1.03 113.0 |51.4%




